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DESIGN OF QUESTION PAPER

SUBJECT : Political Science Max. Marks : 100
CLASS XiII
1. Weightage to form of questions
Form of Question No. of Marks of Total Marks Estimated Time
Questions  each question (in minutes)
Long Answer (LA) 5 6 30 55 minutes
Short Answer (SA) 10 4 40 70 minutes
Very Short Answer (VSA)- | 10 2 20 30 minutes
Very Short Answer (VSA)- 10 1 10 10 minutes
35 100 165 minutes
+ 15 minutes
for revision
2. Weightage of content
Part | : Contemporary World Palitics
Unit Chapter Marks
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Globalisation and its Critics

Palitics in India since Independence

10 Era of One-Party Dominance
u Nation-Building and its Problems
12 Politics of Planned Development

Cold War Era in World Palitics
Disintegration of the *Second World" and the Collapse of Bipolarity

US Dominance in World Politics

Security in Contemporary World

Environment and Natura Resources

International Organisations in a Unipolar World

Alternative Centres of Economic and Political Power
South Asia in the Post-Cold War Era

14

16

10

10

16




13 India’s External Relations

14. Challenges to and Restoration of Congress System
15. Crisis of the Constitutional Order

16. Regiona Aspiration and Conflicts

17. Rise of New Socia Movements

18. Recent Developments in Indian Politics

3. Weightage of Difficulty Level
Estimated difficult level

Difficult

Average

Easy

Per centage
20%
50%
30%

} :

16

4. Scheme of Options : Internal Choice to be provided in all Long Answer Questions

of 6 marks each.

5. In order to assess different mental abilities of learners, question paper is likely to
include questions based on passages, visuals such as maps, cartoons, etc. No factual
question will be asked on the information given in the plus (+) boxes in the textbooks.

54

4




/f
BLUE PRINT
Subject : Political Science Setl andll
Max. Marks : 100 marks
Unit Content/Form of Question Long Answer | Short Answer | Very Short Answer-11 | Very Short Answer-1 | Total
(6 marks) (4 marks) (2 marks) 1 (mark)
Contemporary World Politics
. 1 Cold War Erain World Politics 6(1) 41) 2(2) - 14(4)
2 Disintegration of the *Second World" and the
Collapse of Bipolarity
lI. 3 US Domination in World Politics - 43) 2(1) 12 16(6)
4. Alternative Centres of Economic and Political Power
5. South Asia in the Post-Cold War Era
lll. 6. International Organisation in Unipolar World - 41) 2(2) 12 10(5)
7. Security in Contemporary World
IV. 8 Environment and Natural Resources 6(1) 41) - - 102
g 9. Globdisation and its Critics
Paliticsin India since Independence
V. 10. Nation-Building and its Problems 6(1) 41) 2(2) 12 16(6)
11. Era of One Party Dominance
12. Politics of Planned Development
VI. 13. India’s External Relations - 41) 2(1) - 6(2)
VII. 14. Challenges to and Restoration of Congress System 6(1) 41) - 12 12(4)
15. Crisis of the Constitutional Order
VIII. 16. Regiona Aspirations Conflicts 6(1) 41) 2(2) 12 16(6)
17. Rise of New Sociad Movements
18. Recent Developments in Indian Politics
Total 30(5 40(10) 20(10) 10(10) 100(35)

* Figures outside the brackets show marks.
* Figures inside the bracket show number of questions.

LA — 5 Questions — 6 marks each
SA - 10 Questions — 4 marks each
VSA |l — 10 questions — 2 marks each
VSA | — 10 questions — 1 mark each
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SAMPLE QUESTION PAPER |
POLITICAL SCIENCE
CLASSXII

Max. Marks : 100 Time Allowed : 3 Hours

General Instructions

1.
2.

All questions are compulsory.

Question Nos. 1-10 are of 1 mark each. The answers to these questions should not exceed
20 words each.

Question Nos. 11-20 are of 2 marks each. The answers to these questions should not
exceed 40 words each.

Question Nos. 21-30 are of 4 marks each. The answers to these questions should not
exceed 100 words each.

Question Nos. 31-35 are of 6 marks each. The answers to these questions should not
exceed 150 words each.

Which event does “9/11" refer to in the context of contemporary world politics? 1
Fill intheblanks:

The origin of the European Union can be traced to the ———— Plan

sponsored by the to support the

European countries to recover from the Second World War. 1

Correct and rewrite the following:

The UN Security Council has seven permanent members. A mgjority of the
permanent members can ‘veto' any decision of the Security Council. 1

State the full form of CTBT. 1

What was the most important recommendation of the States Reorganisation
Commission? 1

What is meant by Planned Devel opment? 1

Name the two leaders who were known for the following two slogans:
(a) Jai Jawan, Jai Kisan; (b) Garibi Hatao 1

Match the following four leaders with their parties just before the Lok Sabha
electionsheldin 1977
(a) Charan Singh (i) Congress for Democracy
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10.

11.

12.

13.

14.

(b) D. K. Barooah (i) Bharatiya Lok dal
(c) Jagjivan Ram (iii) Congress (R)
(d) Morarji Desai (iv) Congress (O)

Correct and rewrite the following:

The Assam Movement was led by religious leaders who demanded the
expulsion of non-Hindus from Assam

Fill intheblanks:
A movement called protested
against the building of dam on

river Narmada.

Identify two arenas of the Cold War with one example each.

Identify the four countries marked A, B, C and D in the enclosed map given
bedow with Ukraine, Russia, Azerbaijan, Kazakhstan.

State any two differences between the economic policies followed by China
before and after 1978.

Give two suggestions for the reform of the structures and processes of the
United Nations.
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15.

16.

17.

18.

19.

20.

21.

22.

23.

State the two differences between the security challenges facing the newly

independent countries of Asia and Africa and the security challenges in Europe.

State any two challenges that India faced at the time of Independence.

Name the original states from which the following states were carved out:
(&) Meghaaya; (b) Gujarat

Arrange the following events in the correct chronological sequence, from

the earliest to the latest.

() First Nuclear Test conducted by India.

(b) Twenty year Treaty of Peace and Friendship between India and Soviet
Union.

(c) The Tashkent Agreement between India and Pakistan

(d) The Panchsheel declaration by India and China

State any two characteristics of non-party movements.

Identify one similarity and one difference between the crisis in Punjab and
Assam during the 1980s.

Why did the two superpowers need smaller allies during the Cold War?
Give any four reasons.

What does US hegemony mean in today’s world? Mention any two constrains
that operate on the US hegemony.

What according to you is the message of the following cartoon? What do
the two whedl s in this bicycle represent?
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. TheIndian Prime Minister isto visit China and you have been asked to prepare

avery brief note for him. Write one point each on the Indian and Chinese position
on the boarder dispute and economic cooperation. 2+2

. What are the four components of the traditional notion of security from external

threats? Give one example of each. 1x4

. What ismeant by ‘Global Commons ? Suggest two steps for protection of Global

Commons. 2+2

Identify the four princely states marked in the map given below asA, B, C and
D. Mention the major problem faced in the integration of any one of these states
into the Indian union. 2+2




28.

29.

30.

31.

32.

Explain any two aspects of India’s nuclear policy.

Was the Congress split in 1969 avoidable? If the split had not taken place, how
could it have influenced the course of eventsin the 1970s?

What have been the major trends in the electoral performance of the Congress
and the BJP since 1989?

Suppose the Cold War had not taken place and there were several major powers
at the end of the Second World War. How would that situation have affected
India's foreign policy? Identify any three aspects or regions and imagine the
difference.

OR

Suppose the Soviet Union had not disintegrated and the world was still as bipolar
asit wasin mid-1980s. How would it have affected the developments in the last
two decades? Identify any three regions or domains and the devel opments

that may not have taken place in that kind of aworld.

Read this extract from the Rio Declaration and answer the following questions:

“ States shall cooperate in the spirit of global partnership to conserve, protect and

restore the health and integrity of the earth’s ecosystem. In view of the different

contributions of the global environmental degradation, states have common but

differentiated responsibilities.”

(@) Givetwo examples of the ecosystem being talked about here.

(b) Which part of the world has greater responsibility for environmental
protection? And why?

(c) Towhat extent was this spirit followed by the states in their action since the
Rio Summit?

OR

Read this passage and answer the following questions:

“If globaisation is about the flows of ideas, capital, commodities, and people, itis
perhapslogical to ask if thereisanything novel about this phenomenon. Globdisation
in terms of these four flows has taken place through much of human history.
However, those who argue that there is something distinct about contemporary
globalisation point out that it is the scale and speed of these flows that account

for the uniqueness of globalisation.”

(@) Givean example of each of these four flows that distinguishes globalisation
from similar flowsin earlier times.

(b) Canwe conclude from thisway of looking at globalisation that it is essentially
economic and aways positive? Give examples to support your position.
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33. How was the ‘one party dominant system’ in India different from smilar systems

34.

35.

elsewhere? Did the dominance of one party mean that India was not redly a
democracy? Give reasons to support your answer.

OR

What was the green revolution? Which areas did it affect most? Mention two
positive and two negative consequences of the green revolution.

Argue for or against one of the following proposition:
“The Emergency showed that the foundations of constitutional democracy are
very weak in our country.”

OR

“Indira Gandhi was left with no option except to impose Emergency.”

Read this passage and answer the following questions:

“India adopted a demacratic approach to the question of diversity. Democracy
allows the palitical expressions of regiona aspirations and does not look upon
them as anti-national. Besides, democratic politics allows parties and groups to
address the people on the basis of their regional identity, aspiration and specific
regional problems. Thus, in the course of democratic politics, regional aspirations
get strengthened. At the same time, democratic palitics also means that regional
issues and problems will receive adequate attention and accommodation in the
policy making process.”

(@) Inwhich way was the Indian approach different from the one followed in

many European democracies?

(b) Doesit mean that regionalism is good for Indian democracy?
(c) Substantiate the argument of this passage with the example of Tamil Nadu
or Punjab.

OR

Read this passage and answer the following questions:

“Even as political parties act within the sphere of a given consensus, political
movements and organisations are simultaneously identifying new forms, visions
and pathways of development. |ssueslike poverty, displacement, minimum wages,
livelihood and social security are being put on the political agenda by peoples
movements, reminding the state of its responsibility.”

(@) What isthe ‘consensus mentioned in this passage?

(b) What isthe relationship between political parties and movementsin
contemporary India?

(c) Substantiate the point made in this passage with the example of any popular
movement.
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MARKING SCHEME
SAMPLE QUESTION PAPER |
POLITICAL SCIENCE

CLASS Xl

Max. Marks: 100 Timealowed : 3 Hrs.
1 91lreferstotheterrorist attacksinthe USA on September 11, 2001. 1
2 Fllintheblanks:

The originsof the European Union can betraced to the Marshall Plan

sponsored by the USA to support the European countriesto recover

from the Second World War. 1
3 TheUN Security Council hasfive permanent members. Any oneof the

permanent memberscan ‘veto’ any decision of the Security Council.
4  Comprehensive Test Ban Treaty. 1
5  TheStates Reorganization Commission recommended the creation of states

inIndiaonthebasisof different languages. 1
6  Without overcoming the challengesi.e. poverty dleviation and socia and

economic redistribution, growth and material progressisnot possible.

For development, therefore, adesign or plan wasthe basic requirement. 1
7 Leadersknownby thedogansare: Jai Jawan, Jai Kisan—La Bahadur

Shadiri.

Garibi Hatao—IndiraGandhi. Yot 1o
8 Matchthefollowing:

(@) (ii)

(b) (iii)

(© ()

(d) (iv) YVax 4=1
9 TheAssam Movement wasled by AASU leaderswho demanded the

expulsion of foreignersfromAssam. 1
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10

12

13

14

15

Fill intheblanks:

A movement called Narmada Bachao Andolan protested against the
building of Sardar Sarovar Project.

| dentify two arenas of the Cold War with one example of each.

1. NorthKorea(supported by the USSR) versus South K orea (supported
by the USA).

2. NorthVietnam (supported by the USSR) Vs South Vietnam (supported
by theUSA).

3. Afghanistan (rival factionssupported by theUSand USSR).

4. Europe(NATO led by the USA) versus Warsaw Pact |ed by the
USSR. (Any two)

A:Russia, B: Ukraine, C: Kazakstan, D : Azerbaijan.

State any two differences between the economic paliciesfollowed by China

beforeand after 1978.

(i) Closed/command economy before 1978; open door policy/market
economy after 1978.

(i) Lessforeigntradeand investment before 1978; moreforeigntrade
and investment after 1978.

(iii) Economiclinkages primarily with communist countriesbefore 1978;
economic linkageswith capitaist countries such asthe USA and Japan
after 1978.

(iv) Any other relevant point. (Any two)

Givetwo suggestionsfor thereform of the structures and processes of the
United Nations.

1. TheUN Security Council should be expanded.

2. Morepowersand resources should be provided to the UN Peacekeeping

missons.
3. Anyother

Statethetwo differences between the security challengesfacing the newly

independent countriesof Asiaand Africaand the security challengesin Europe.
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16

17

18

19

20

21

1. Thenewly independent countriesof Asaand Africahavemilitary conflictswith

2. Thesecountriesface mogtly internal security challenges.

@
()
©

@
(b)

Arrangethefollowinginthe correct chronol ogical sequence:

@
2
3
(4)

Characteristicsof non-party movements.

neighboursover unsettled borders.

Digplacement and rehabilitation asan outcome of partition.
Diversity of language, cultureand religion etc.

Toevolveeffectivepoliciesfor eradication of poverty. (Any two)

Assam
Maharashtra

(d)
©
(b)
@

They areled by voluntary sector organisations.

They donotinvolvepoalitical parties.
They do not contest elections.

They encouragedirect and active participation by peoplein solvinglocal

issues

(Any two)

Bothin Punjaband Assam criss, thecommon factor wasresponding toregiond
aspirationsaswell asfinding sol ution through democratic negotiations.

The uncommon aspect in both of thesewasthat in the Punjab crisisthefocus
wason thedemand of political autonomy for theregion whereasin theAssam
crissthemovement wasagainst outsidersi.e. from BanglaDesh.

Thetwo superpowersneeded smaller dliesdueto following reasons:

1

ok 0D

Vital natural resourcessuch asoil, gasand mineras

Territories, which could beused asmilitary bases

L ocations, which could be used for spying

Economic support fromsmall aliesby way of providing troopsand materials

| deological support from small alliesintermsof loyaty torival ideas.
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22 What doesUS hegemony meanintoday’sworld? Mention any two
congtraintsthat operate onthe US hegemony.

The USA isthe sole superpower now. It hastheeconomicand military
meansto intervenein any part of theworld.

Theconstraintsare—

1. Systemof separation of powersamong thethree organsof the
Americangovernment

2. theopennatureof American society and political culture
3. NATO

23 What accordingto youisthe message of thefollowing cartoon? What
do thetwo wheelsinthe bicyclerepresent?

A Thecartoon showsthe economictransformation of communist China.
China exports a large number of low-cost products to the capitalist
Western countries and Japan.

Whilethefront whedl representsthe Communist symbol of hammer and
sickle, therear whedl representsthe Capitalist symbol of dollar. Both
arecoexigtingin Chinanow.

24 Thelndian PrimeMinister istovisit Chinaand you have been asked to
prepare avery brief notefor him. Write one point each onthelndian
and chinese positions on the border dispute and economic cooperation.

A: 1. India: Chinashould accept theentire Arunachal Pradesh asthe
territory of India

2. China: Indiashould giveupitsclaimsontheAksai Chinarea.
India: More cross-border trade points should be opened.

4. China: Moresectorsof Indian economy haveto be opened for
the Chineseinvestment.

(Any other points)
25 What arethefour componentsof thetraditional notion of security from
external threats? Give one exampleof each.
A:.  Thefour componentsare:

1. Deterrence: to prevent war, e.g. thenuclear deterrence policy
of thetwo superpowers during the Cold Wear.
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26

27

28

2. Defence: tolimit or end war, e.g. training of nationa armed
forcesto facethreatsfrom abroad.

3. Baanceof Power : Maintaining afavourablebal ance of power
vis-a-visothers, particularly inthemilitary sector e.g. Arms
purchases by India and Pakistan from abroad for military
modernizetion.

4. Alliance-building: Forming acodlitionwith otherstoincresse
one'sownpower e.g. theNATO established by the USA and
the Warsaw Pact created by the USSR.

What ismeant by ‘ Global Commons ? Suggest two stepsfor protection
of globa commons.

A: Global Commonsareareasof theworld located outsidetheexclusive
jurisdiction of any one state. So they require common governance by the
globa community. For example, theearth’satmosphere, the ocean floor,
Antarctica, Arctic Polar Regionsand outer space.

1. activitiesintheseareasshould berestricted to scientific research and
commercia explaitation should not beallowed.

2. the advanced countries such as the Western countries and Japan
should provideenvironment-friendly technol ogiesto thedeveloping
countriesto prevent environmental degradation.

The candidates haveto writethe names of Hyderabad, Manipur, Junagarh
and J& K against A,B,C,D marked inthe Blank Map. The candidates should
al so mention about the problem faced in the integration of any one of these
statesinto the Indian Union.

Permanent membersof the Security Council (after Communist China's
conducting nuclear testsin 1969) imposed the Nuclear Non-Proliferation
Treaty (NPT) of 1968 on therest of theworld. Indiatermedit as
discriminatory and refused to signthe same.

InMay 1974 Indiaundertook itsfirst nuclear explosion. India, however
caledit aspeaceful explosion and awaysargued using atomic power for
peaceful purposes.

Indialater conducted aseriesof nuclear testsin May 1998 demonsirating
the capacity to use nuclear energy for military purposes. Theinternationa
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29

30

community wascritical and imposed sanctions. India snuclear doctrine
of credibleminimum nuclear deterance professed “ nofirst use”.

Indiaretrated itscommitment to global, variable and non-discriminatory
nuclear disarmament leading to anuclear weapon freeworld. (Any two)

L ooking at the eventswhich followed the el ections of 1967 it appearsthat
thesplitin 1969 wasnot avoidable. Thosefrom the organisational wing,
who had played arolein making IndiraGandhi the Prime Minister, after
thedeath of Lal Bahadur Shastri were surethat shewill beplaying asa
tool intheir hands. IndiraGandhi came out with a10 point programme
which was appreciated by theleft partiesand the DMK.

When President Zakir Hussain died the prominent |eaders of the party
proposed the candidature of Neelam Sanjeeva Reddy without even
consulting Smt. Gandhi. Sheand her supportersfavoured V.V. Giri and
did not even bother about the whip. Hence, whatever happened, i.e.
election of V.V. Giri asthe President strengthened Smt. Gandhi and she
nationalised 14 Banksand stopped privy pursesofthe Princes. Sheeven
coined the slogan “ Garibi Hatao’ and in 1971 electionsreturned to the
Lok Sabhawith asolid mgjority.

Had the split not taken place al these progressive measures might not
have seen thelight of theday. The split, therefore, was not avoidable.
Theeventsproved that they wereintheinterest of the peopleof India

After 1989 thetrendsinthedectoral performancereating totheformation
of government by Congressand BJP can bevisualised asfollows:

* Inthedectionsof 1989 Congresssecured only 197 seatsand decided
togtintheoppostion.

» TheNationa Front, an alliance of Janta Dal was supported by the
Left and BJPfrom outside and it formed the government.

* 1n1991 eectionsdueto the assassination of Prime Minister Rgjiv
Gandhi, Congressemerged asthe singlelargest party and under the
leadership of NarsimhaRao it formed the government. It had the
support of AIADMK.

* 1n1996, the L eft continued to support the non-Congress Government.
The Congress supported the government asthe L eft and Congress
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wanted to keep the BJP out of power. Thesinglelargest party, BJP
was invited to form the government but most other parties were
opposedtoit. BJP could not secure magjority inthe Lok Sabha.

* H.D. Deve Gowdawith the support of Congressformed a United
Front and renamed the Prime Minister for appropriately 11 months.
Similarly, I.K. Gujral with the support of Congressformed another
United Front and becamethe Prime Minister for oneyear.

e FromMarch 1998to October 1999 and October 1999 to May 2004
BJP and otherslike minded partiesjoined hand and formed N.D.A.
Government, but theregional partieswere alwaysasking for their
share of meat for the support extended.

* Intheelections of May 2004 the Congress with the support of a
number of political partiesformed UPA government. It receivedthe
support of L eft partiesfrom outside.

*  Since1989t0 2007, there have been ninegovernmentsat the centre,
intheform of either codlition governmentsor minority governments
with the support of other parties who joined the government or
extended support from outside. It indicatesatrend towardscodlition
governments. Another trend hasbeen seeni.e. emergenceof regiona
partieswhich have started playing animportant rolein therunning of
thegovernment.

If the Cold War had not taken place and there were several major powers,
it would have affected our foreign policy inthefollowing manners.-

(i) NAM —Indiawould have adopted an independent foreign policy
ingtead of remaining non-aligned. Indiawoul d havejoined handswith many
likeminded magjor powersfor mutual benefitinvariousfieds.

(i) Military Power : Sincetherivlary between many mgor powerswould
haveincreased hatred and enimity. Indiawould have been compelledto
jointhearmsraceto becomeastrong nation to defend itsindependence
and sovereignity.

(iii) Indiawould have becomeasuper power inAsiabecause of her large
territory, human resource and strategic location.

(iv) Any other relevant point. (Any three)
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OR

Had the Soviet Union not disintegrated, it would have definitely affected
thedevelopmentsin thelast 20 yearsin thefollowing manner :

(i) ColdWar confrontationswould not have ended and United States
would not have becomethe only super power of theworld.

(i) Accumulation of nuclear weaponswould have continued endlessly.

(iii) Third World War — The world would have headed towards a Il1
World War which could be much more devastating and destructive-
may betheend of human race on earth.

(iv) Most of the countrieswhich were part of earstwhile USSR would
have never got independence.

(v) Most of the former Soviet Republics which are passing through
conflictsand Civil Wars, would not have gonethrough thisagony.

(vi) USA, the only super power left, would not have dared attack
AfganistanandIraqg.

(vii) Many internationa problemsliketerrorism, neo-colonidismetc. would
have beenjointly tackled by both the super powers.

(viii) (Any other relevant point). (Any three)

A.

(i) Climaticchange(ii) Bio-diversity (iii) Forestry (iv) Globa Commons
like earth’satmosphere, the ocean floor, Antarcticaand outer space
(v) Ozonedepletion and globa warming. (vi) Relationship between
economic devel opment and environmental management. (any two)

B. Thedeveoped countrieshavegreater responsbility for environmenta
protection because much of theecological degradationintheworldis
the product of their industrial devel opment.

C. SincetheRio- summit, most of the Statesare making effortsto protect
the environment and work on other global ecological problems
depending upon their resources. With more awareness about the
ecologica degradation, alot has been done, but much more also
needsto be done.
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OR

(A)

(i) Theflow of ideastoday istaking placeat avery rapid speed through
technol ogical advancement in printing and other electronic media,
especialy thecomputer.

(i) with advancement in technology and meansof communication, the
flow of capital has also multiplied. Now most of the developed
countriesareinvesting their capital in other countiresby establishing
theirindustria units. Thisgivesaboost to the economy of both the
countries.

(iii) Theflow of commoditiesfrom one country to the other hasbecome
very easy and quick due to advancement of means of transport,
communication and liberdisation. For example, Chinesegoodshave
flooded the marketsall over theworld.

(iv) Flow of people from one State to another has become acommon
featurethesedays. For example, thetechnocratsof Indiaarein grest
demand outsidesuchasUSA and other countries.

(v) Yes, Globalizationismainly dueto economic reasons. Behind most
of theactivities flow of ideas, capital, peopleand goods. Thepurpose
istogaineconomicaly. For example, establishing bigindustrid units
asjoint ventures, employment to technocrats and other personnel,
transfer of technology, open market for goodsetc. ared| prominent
economicactivities.

Some examples of the one party dominant system from around theworld.

No. Thedominanceof oneparty did not mean that Indiawasreally nota
democracy. Although, the Congress Party dominated the el ectoral arena,
thelndian political systemisdemocratic for thefollowing reasons:-

1. Opennatureof thelndian Political system.

2. Roleof the CongressParty during thefreedom struggle.

3. Thecharacterigticsof the Congress Party — Political support base.
4. Presenceof other politicd partiesinthesystem.

5. Electora system—freeandfair elections.

70

2+2+2=6




OR

To overcomethe prevailing food crisis, the government adopted anew
strategy for agriculturein order to ensurefood sufficiency. It wasdecided
toput greeter resourceslikehigh-yidding variety seeds, fertilizers, pesticides
and better irrigation and highly subsidized prices. Thishelpedinincreasing
productioninavery short period. Thiswasthe Green Revolutionwhich
madeIndiasdf-sufficientinfood grains.

Positive aspects :-

a)

Some regions like Punjab, Haryana and Western Uttar Pradesh
becameagriculturally prosperous.

b) Itledtotheriseof middle peasant section—farmerswith medium
szed holdingswho benefitted from the changes.

c) Itraisedtheavailability of latest technology, good equi pments, easy
loansand variousother facilities.

Negative aspects:

a) It increased polarisation between classes and regions. Punjab,
Haryanaand Western U.P. became prosperouswhile other regions
remained backward.

b) Alsothe stark contrast between the landlords and poor peasantry

produced conditionsfavourablefor |eft wing organizationsto organize
poor peasants so that they becometheir vote Banks.

34  Argumentsfor

1

The confrontational relationship between the government and
opposition,

Lack of harmony between the Parliament/Prime Minister and the
Supreme Court.

Theeasawithwhichtheemergency wasimposed by thePrimeMinister
no consultation with the cabinet.

Congtitutional battle over thejurisdiction of the Parliament and the
judiciary - conflicting interpretationsof thecongtitution,

Misuse of emergency provisions - preventive detention, press
censureship,
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6. Inability of judiciary to protect civil liberties,

7. Interferenceof Sanjay Gandhi inthefunctioning of Govt.

Argumentsagaingt

1. Openanddemocratic nature of thelndian Political system.

2. Emergency wasan extraordinary responseto extraordinary crisis,

3. Emergency lasted for lessthan two years- back to normal democratic
functioning.

4. Opposition to the emergency measures,
Freeandfair dectionsin 1977 - massve verdict againg the Congress
Party.

6. Constitutional amendmentsto remove ambiguitiesregarding the

emergency provisons.
OR

IndiraGandhi had no option except to impose emergency as

1

Shefelt that frequent agitation and strikes by Opposition are not
good for demacracy.

Shefelt that opposition was not alowing the Govt. to functionin
normal manner -leading to politica ingtability,

Shefdt that thejudiciary was acting asahurdleto her govt.

She alleged that subversiveforceswere not allowing her govt. to
implement the progressive programs, for example, 20 point program,

Shedlleged that subversiveforceswereattempting to overthrow her
government through extracongtitutional means.

No need to impose emergency

1

Popular struggle against the government - alegacy of our national
strugglefor freedom.

TheBihar and Gujarat movementswere mostly non-violent. Very
few casesregistered against the detai nees.

Law and order situation was mostly normal. Emergency was an
overreaction on the part of government.

Therewasno threat to the unity and integrity of thenation.
IndiraGandhi misused an extraordinary congtitutiona provisonmeant
for saving thenationto remainin power.
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(b)

(©

Cultural diversity is not athreat to the nation. Accommodative
approach towardsregiona demands. Page 149-150

Yes, regionalismisgood for Indian democracy. Regiona movements
highlight regiond problemsso regiond aspirationsareaccommodated
inthenationa policy making process.

Tamil Nadu (See page 152-153), Panjab (See page 158-159)

Theregiona movement in Tamil Naduwishto preservethecultura identity
of Tamil and promote Tamil language- Anti Hindi agitation of 1965.

Punjab: Anandpur Saheb Resol ution

@

OR
Consensuson 4 elementsamong political parties- Page 190-192.

Thefour elementsare new economic policy, acceptance of the political
and socia claims of the OBCs, Acceptance of therole’ of State level
parties in governance of the country and emphasis on pragmatic
cons derationsrather than ideol ogica agreements.

(b)

(©

A week relationship exists between political parties and popular
movementsin contemporary India. Popular movementsareusually
non-party movementsled by voluntary organisations. They areoutside
party politics. They hopethat direct participation by peoplewould
bemoreeffectivein resolving locd issuesthan politica parties.

Chipko movement (Page 129-130).

Dalit Panther (Page 132 - 134)
BhartiyaKissam Union (BKU) - 134-135
National Fish Workers Forum Page 136
Anti Arrac Movement Page 137-138
NarmadaBachao Andolan Page 140 -142
Right to Information Act 144

Examplesrelating to above popular movements (anyone)
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Sample Question Paper 1. Question-wise Analysis

Sr. No. Marks Form of Content Edimated
Question Unit Difficulty

Group Leve

1 1 VSA-| [l Easy
2 1 VSA-| [l Average
3 1 VSA-| ] Easy
4 1 VSA-| 1 Easy
5 1 VSA-| \% Average
6 1 VSA-| Vv Difficuit
7 1 VSA-| VIl Easy
8 1 VSA-| VIl Difficult
9 1 VSA-| Vil Easy
10 1 VSA-| Vil Easy
n 2 VSA-II I Easy
12 2 VSA-II Map | Average
13 2 VSA-II [l Average
14 2 VSA-II 1 Easy
15 2 VSA-II ] Average
16 2 VSA-II Vv Easy
17 2 VSA-II Vv Easy
18 2 VSA-II Vi Easy
19 2 VSA-II VIl Average
20 2 VSA-II VI Average
21 4 A I Easy
22 4 A [l Average
23 4 SAVisud [l Difficuit
24 4 A Il Average
25 4 SA ] Difficult
26 4 A v Average
27 4 SA Map \% Average
28 4 A Vi Easy
29 4 SA VIl Difficult
30 4 A VIII Average
31 6 LA I Difficuit
32 6 LA v Average
33 6 LA Vv Easy
34 6 LA VIl Average
35 6 LA VIl Average
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Max. Marks : 100

General Instructions

1.
2.

SAMPLE QUESTION PAPER ||
POLITICAL SCIENCE
CLASSXII

Time Allowed : 3 Hours

All questions are compulsory.

Question Nos. 1-10 are of 1 mark each. The answers to these questions should not exceed

20 words each.

. Question Nos. 11-20 are of 2 marks each. The answers to these questions should not

exceed 40 words each.

Question Nos. 21-30 are of 4 marks each. The answers to these questions should not
exceed 100 words each.

. Question Nos. 31-35 are of 6 marks each. The answers to these questions should not

exceed 150 words each.

Correct the following sentence : 1
‘ASEAN’ stands for Association of South East African Nations.

Fill intheblanks: Yo+ 1o
Bangladesh was a part of Pakistan from the year to

Why do people migrate? Mention any one reason. 1
What is the role of W.T.O.? 1
Mention the main objective of Second Five Year Plan. 1
Correct the following sentence and re-write:

The issue of Jammu and Kashmir was resolved after a plebiscite which

confirmed people’ sdesiretojoin India 1
Which were the two major challenges the country faced during

Lal Bahadur Shastri’s brief Prime Ministership? Yot o
What is the meaning of defection? 1
What was the Anti-Arrac Movement? 1
Menion any one factor that leads to regionalism. 1
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11 After the disintegration of the Soviet Union in 1991, in which two ways has

14

India benefitted by continuing her friendship with Russia?

Identify the two founding fathers of NAM from amongst the following:
a) Yasser Arafat (b) Nelson Mandela (c) Dr. Sukarno
d) Marsha Tito.

Explain any two causes that led to the formation of European Union.

Mention the full form of (a) SAFTA and (b) SAARC. What was the basic
reason for the formation of SAARC?

15 What is meant by Human Security?

16

Mention any two ideologies of Bhartiya Jan Sangh.

17 What is Reorganisation of States? When did it take place?

18

19

20

21

Mention any two major objectives of Nehru's Foreign Policy.
State any two lessons from regional movements in India

List any two recommendations of the Mandal Commission.

The Non-aligned Movement came into being as an institutional pragmatic
response to an era of dangerous rivary in global affairs. The over-reaching
doctrine was that those, who were not super powers or their associates were
not entitled to real choices. Our leaders, however, resisted that impulsion and
refused to join either of the camps, opting for neutrality asthey established the
Non-aligned Movement.

Read the above passage and answer the following questions:
a) Name the global rivary to which the passage refers to.
b) Name the two super powers which were in conflict.

c) Mention any two reasons why India decided to join the Non-aligned
Movement.

Describe any four basic objectives of the ASEAN.
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24

26

27

Observe the above cartoon and answer the following : 1+1+2
a) Name the two leaders.

b) Imagine any two problems they might be discussing.

¢) Mention the outcome of their discussion.

Explain any two reasons which make India's claim stronger for a permanent

membership of the Security Council. 2+2
“U.N. isan indispensable organisation”. Do you agree? Give any two arguments

in support of your answer. 2+2
Explain any two criticisms of globalisation. 242
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Look at the above clipping of the Hindustan Times. You will agree that the
agricultural conditions of Indiawent from bad to worse in 1960s. Inthe light
of this answer the following questions:

a) How did India solve her problem of food shortage?
b) IslIndianow sufficient in food production? State the reason for your

answers.
ot CONGRESS DOMINANCE
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Study the map given above and answer the following questions:

a) Did the Congress maintain the increase in the members in these elections
b) Which political party continued to gain seatsin al the elections?

¢) Name the palitical parties which contested only two of the three elections.
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31

“The era of codlition started in 1977 at the Central Government level and has
cometo stay in abigway”. Explain.

What is meant by popular movements? Explain the party-based and no-party
based movements.

“Indiashould give up its policy of Non-alignment and align with the United
States.” Do you agree? Give any three arguments in support of your answer.

OR

“The transition from Communism to Capitalism was not a smooth one”.
Comment.

Explain the increase and decrease in the role of the state activities in the
developing countriesdueto globalisation.

OR

“Pursuing economic devel opment without causing further damageto the global
environmentisamajor challenge beforethe States.” Suggest any three measures
to overcome this problem.

List any three factors that helped the Congress to continue to dominate the
Indian political scenario for almost three decades after independence.

OR

Opposition plays asignificant role in ademocracy. Did the opposition, in the
eraof one party dominance, performitsrole of highlighting the acts of ommission
and commission of the government? Support your answer by giving any three
arguments.

Analyse any three lessons that were learnt from the Emergency declared in
India on 25" June, 1975.

OR
Explain any three main outcomes of Lok Sabha elections of 1977.

‘In the midst of severe competition and many conflicts, a consensus appears
to have emerged among most of the political parties’. In the light of the above
statement highlight any three points of consensus.

OR

“Even after six decades of independence certain issues pertaining to national
integration are yet to be resolved”. In the light of this statement, explain any
three unresolved issues.
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MARKING SCHEME
SAMPLE QUESTION PAPER II
POLITICAL SCIENCE
CLASS XII

Associationof South East ASIAN Nations
Bangladesh wasapart of Pakistan fromtheyear 1947 to 1971.

Peoplemigrate:
(@ Insearchof better economic opportunities.
(b) Incaseof natural disasters.

©Palitical procecution. (Any one)
World Trade Organization setstherulesfor globa trade and regul atesthem.
Themain stress of the Second Five Year Plan wason heavy industries.

Correct thefollowing sentence:

Theissueof Jammu and Kashmir wasnot resolved after aplebicitesince
no plebicitewasheld

OR
Theissue of Junagarh was resolved after a plebicite which confirmed
people' sdesiretojoinIndia
(& Whether India sdemocratic experiment will surviveafter Nehru.
(b) Seriousfood crisispresented agrave chalenge.
(¢) Theeconomicimplicationsof thewar with Chinawasanother challenge.

(Any two)

Defection meansan elected representative leavesthe party on whose
symbol he/shewaselected and joinsanother party.

Thismovement took shapeintherural areasof the Southern State of Andhra
Pradesh. Inthismovement the women demanded aban on the sale of
achohal intheir neighbourhood.
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10

12

13

14

15

16

(8 Regiond aspirationslead toregionaism.

(b) Neglect of aspecific part of the Stateleadsto regionalism.

() Regiona imbalances in economic development contributes to

regionalism. (Any two)

(¢) Indiareceived support of Russiaover Kargil.

(d) Supply of raw material by Russiato Indiafor energy.

(e) Russiashared concernrelatedtointernationa terrorism.

() Russiaprovided technical assstanceto sted plantsin Bhilai, Bokaro
etc. (Any two)

(@ Dr.Sukarno

(b) Marshd Tito

(& Thecollapseof the Soviet block enchanced in theformation of the
European Union.

(b) Thedesireto have acommon foreign and security policy and the
creation of asinglecurrency played apositiveroleintheformation of
the European Union.

(©) Inorderto have an emphatic and assertive economic, political and
diplomatic influence. (Any two)

(& SAFTA: SouthAsian Free Trade Agreement.

(b) SAARC: SouthAsianAssociationfor Regional Co-operation.

() SAARC was established by the States of South Asiain order to
recognize theimportance of co-operation and friendly relationship
among themselves.

Theideaof ‘ global security’ emergedinthe 1990’ sin responseto the
globa natureof threats such asgloba warning, internationa terrorism,
heslth etc. It isredlly very difficult for any onecountry to solvesuch
problemsalone.

Ideologies of Bhartiya JanaSangh were:

() Emphasised on one country, one culture and one nation.
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17

18

19

20

(i) Are-unionof Indiaand Pakistaninto Akhand Bharat.
(iii) ReplaceEnglishwithHindi astheofficia language.
(Any two)

Theprocessof nation building did not cometo an end with partition and
integration of Princely States. In order to draw internal boundariesthe
Central Government gpointed aState Reorgani zation Commissionin 1953.
The Commissioninitsreport accepted that the boundaries of the state
should reflect the boundaries of different languages. Onthebasisof the
report the State Reorganisation Act was passed in 1956. Asaresult 14
Statesand 6 Union Territorieswere created.

Objectivesof Nehru’'sforeign policy —

(@ Nottojoinany of the power-blocks.

(b) To preservethehard-earned sovereignty.
(c) Toprotectterritorid integrity.

(d) To promote rapid economic development. (Any two)

e Regiona movementsareanormal part of democratic politics.

e Theappropriate way to respond to regional movementsisthrough
democratic negotiationsand not through suppression.

e Groupsand partiesfrom theregion need to begiven asharein power
at the Statelevel and dsointhenational level decision-making.

e Regional imbalancesin economic devel opment contribute to the
fedingsof regiond discrimination andinter-regiona migration.
Recommendationsof Mandal Commission:

(@ Reservationof 27% seatsin educationa ingtitutionsand government
jobsfor backward classes.

(b) It recommended land reformsto improvethe condition of the Other
Backward Classes.

(¢) Backward Classesshould be understood to mean “ backward castes’,
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sincemany castes other than the Scheduled Castesweretreated as
low inthecaste hierarchy.
(Any two)

21 (a) Theglobal rivary refer to armsrace among the super powersand
therdlies.

(b) Thetwo super powers refer to United States of Americaand the
Soviet Union.

(¢) Indiaapeaceloving nation had always aperception of apeaceful
world and hencejoined non-aligned group of nations.

Indiawanted to keep away from military alliancesand hence chose

thebest path of kegping doof from theracersof armsand ammunition.
22 Thebasicobjectivesof ASEAN are:
() Toacceerateeconomic growth.

(i) Topromoteregional peaceand stability based on the principles of
U.N. Charter.

(i) Therespect for nationa sovereignity iscritical to thefunctioning of
ASEAN.

(iv) To create acommon market and production base within ASEAN
States.

(v) Toencouragenegotiationsover conflictsintheregion.
(Any four)
23 (i) Thetwoleadersare Generad Musharaff and Prime Minister
Manmohan Singh.
(i) How toimprove manto man relationship between both the countries.
(i) How todo away with the Visaformalities between thetwo nations.

(iv) After discussing thevariousaspectsof theabove problems, it was
decided to have apositive stance—

»  ToarrangeaSecretary level meeting of both thenations.

* To consider the report of the Secretary level meeting, the
minigterid level mestingbehdd.
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» Iftheministersof both the nations gpprove, ameeting of thetwo
heads of the government be arranged to finalizeand formalize
the decision for implementation.

24 India sclamfor apermanent seat at the Security Council :
(@ IndiaistheWorld' slargest democracy.
(b) Indiahasbeenavery active participant of UN’s peaceinitiatives.
(¢) Indiahasbeenvery regular infinancia contributionsand did not falter
inits payments. (Any two)
25 Yes, U.N.isregarded asthe most important international organization
Reasons:

(@ Itisindigpensableand representsthegreat hope of humanity for peace
and progress.

(b) Asaninternationa organisationthe U.N. helpscountriesco-operate
to make better living conditions.

(¢) Ithelpsmembersdtatesresolvetheir problemspeacefully.
(Any two)
26 Criticismsof globalization:

(@ Contemporary globalization representsaphase of global capitalism
that helpsmaking therich richer and the poor poorer.

(b) Theglobdisationin political termsisweakening the sate.
(c) Culturaly, thetraditiona culturewill be harmed and peoplewill lose
their old ageold valuesand ways.
(Any two. Any other relevant criticism)
27 (a) Byimportingfoodgrainsfrom variouscountries.
(b) Yes, duetothe Green Revolution Indiaisnow exportingitssurplus
production.
28 (i) No.
(i) Communist Party of India(CPl).
(i) PrgjaSocidist Party (PSP) and Ganatantra Parishad (GP).
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29

30

31

For thefirgt timeat the nationa leve the coalition government wasformed
in1977. Gradually since 1989in al the nine governmentswhich were
formed under the leadership of V.P. Singh (National Front);
Chandrashekher (Section of Nationa Front led by Samajwadi Party) and
supported by Congress, Narasimha Rao (Congress supported by
AIADMK); A.B. Vapayee (B.J.P. Minority Government); H.D. Deve
Gowda (U.F. supported by Congress); I.K. Gujral (U.F. supported by
Congress); A.B. Vajpayee (N.D.A. led by BJP) and Manmohan Singh
(UPA supported by L eftist Parties supporting from outside) clearly show
that coalitions/minority governmentshave cometo stay in India.

*  NDA wasformed under theleadership of Shri A.B. Bgpai incodition
with 13 parties. Thiscoalition ruled over the country for complete5
yearstenurse. However, during this period therewere quiteafew
upsand downs.

»  Shri Man Mohan Singh in the election of 2004, formed the UPA
coditiongovernment supported by the L eft partiesfrom outside. Even
the UPA government on certain occasions due to various reasons
was shaken.

When diversesocia groupssuch aswomen, students, ddlits, farmersetc.
arenot satisfied with the attitude of the government, they cometogether
under the banner of varioussocial organisationsand voicetheir demands.
Thisgivesrisetothepopular movements.

Therearetwo kindsof popular movements:
(@ Party based movements are those which are spearheaded and
supported by political parties.

(b) Ontheother hand, inthenon-party movements, politicaly activegroup
losefaithinthe democratic ingtitutionsand el ectoral politics. They
step out side the party politics and emerge themselves in mass
mobilisation for registering their demandsand protests.

No, | do not agree

() Students here need to refer to India’s experience under foreign
domination of Britain. How NAM wasan assertion of itsindependence
and hasresolved itsinterests. Indiacould not bebullied or takenfor
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32

(i)

(ii)

granted. All thesewererelevant evenin the cold war era. Infact
now aternate centres of power areemerging.

NAM is dtill relevant to democratise the world order. It givesa
collectivevoiceto the Third World countriesto put their point across
inthiseraof World Trade Organization and globalization.

Non-alignedisnot to betaken asneutrality. The member countries
worked to prevent wars between countries and tried to end wars by
playing aconstructiverolewherever they had broken ouit.

OR

Thetransition from Communismto Capitalismwasnot smooth as:

@

It brought ruin to the economies and disaster upon the people of the
entireregion.

90% of the state-controlled industriesweresold to privateindividuals
and companies.

Thevalueof theroubledeclined, inflation was high and peoplelost
thelr savings.

Old system of socia welfare was destroyed and large sections of
peoplewere pushed into poverty.

The construction of democratic ingtitutionswas not given the same
attention and priority asthe demands of the economy changed.
(Any three)

Thisisjust asampleanswer :

@

()

“It generates greater economic growth and well being for larger
sections of population. Thisimpact of globalization is the most
important from India’s point of view. More and more of foreign
Investment with the coming of more multinational companieshave
strengthened Indian economy giving rise to generation of greater
economic growth and well being for larger sectionsof the population
of thethird world countries.

“Power of the State hasincreased dueto enhanced technology.” This
impactisasoimportant from India spoint of view becausethe spread
of internet and computer rel ated services hasbrought quite anumber
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of developing countriesintheforefrontintheworld market. Increasing
demand of computer engineersisan ample proof of it.

“Globdization hasled toflow of ideasacross national boundaries.”
What is important is, that in different parts of the world, the
interconnectionsare now feasible. Eventstaking placein one part
leave animpact on other parts. Natural caamitieslike Tsunami, bird
flue are no longer confined to any particular nation. The idea of
transparency in grievanceshasleft amark onthedevel oping countries.

(or any other relevant point)

OR

Pursuing economic devel opment without damaging global environment :

Suggested measures

@
(b)
©
()
C)

Reducegreen housegasemissions.
Useof cleaner fuelsfor vehicles.
Encourage use of renewableenergy.
Useof environmentally sound technol ogy.

Ban on forest clearing and encouraging afforestation. — To be
explained.
(Any three or any other relevant measure)

33 Factorsfor domination of political sessonsby the Congress:

Provided ableleadership to the I ndian massesfrom 1885-1947

Whole-heartedly fought for India sindependenceand did not worry
about thesacrifices.

Indian massesweretotal ly impressed by the Congress Party’srole.

Mahatma Gandhi lived like an ordinary Indian and propagated
ideol ogiesof truth, non-violence, swarg, trusteeship which the people
of Indiathoroughly appreciated.

The Congressafter India sindependence, not only tried to solvethe
problemsbut al so faced the challenges before the nation.

All theabovefactorsforced Indiansto elect Congress Party again
and again. (Any three) (to be briefly explained)
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OR

It hascorrectly been pointed out that in every democratic set up opposition
isnot only necessary but essential. However, the scenario of Indiainthe
1% and the 2™ decade after independence the Congresswhich inherited
thelegacy of the nationa movement won theéelectionsin 1952, 1957 and
1962 by winning 364, 371 and 361 seatsinthe Lok Sabha. Theopposition
partiescould not evenwin over 25% of the seatsand many of themwere
earlier members of the Congress Party and they did not uniteto act asa
strong opposition. Theirswasadivided house. Argumentsin support of

opposition:
1. Theopposition played acrucial rolein maintaining the democratic

charactersof thesystemand offered principled criticismonthepolicies
and practicesof theruling party.

2. Gradually, these opposition parties became popular and they
constantally pressurised and criticised, censured and influenced the
ruling party.

3. ondifferent occasionstheruling party used to givedue credit to the
fluent speaches of theleader of the opposition. PrimeMinister Nehru
used to call the leaders of the opposition parties and seek their
cooperation for solving nationa problems.

Lessonslearnt from theemergency :

() Itisextremey difficult todo away with democracy inIndia.

(ii) It brought out someambiguitiesregarding the emergency provision,
which have been rectified sincethen.

(iii) 1t madethepeopleawareand dertsregardingthevaueaf civil liberties.
Courtsaso becameactivein protecting civil liberties.
OR

Major outcomesof the 1977 elections:

() TheJanataParty wasformed out of acombination of parties. The
leadership of Jayaprakash Narayan was accepted. Under the
leadership of Jagjivan Ram, some Congress leaders formed the
Congressfor Democracy which later merged with the Janata Party.
TheJanataParty caled thisdection asareferendum ontheemeregency.
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(i)

(ii)

The Congress won only 154 seatsin the Lok Sabha. Its share of
popular votesfell tolessthan 35%. The Janata Party anditsallies
won 330 out of 542 seats. Congresslost from every congtitutency in
Bihar, Uttar Pradesh, Delhi and Haryana. It wasavery bighfeltto
Congress.

The opposition realised that if non-Congressvotesarenot divided,
they will beableto continue enjoying power.

Threedementsof consensusare:

@

()

(©

()

A consensuson economic policies: while some are opposed tothe
changes, mgority of the partiesagree and support these policies.

Most partiesaccept the political and socia claimsof the backward
classes. Mogt partiessupport ‘ reservations' in education, employment
and share of power.

The growing role of State level parties, and their growing rolein
governance of thecountry. Statelevel partiesare playing acentral
roleinthe country’spolitics.

Inthiseraof codition palitics, ideology hastaken aback seat. Political
aliances are based on power sharing arrangements rather than
ideological considerationse.g. many memberspartiesof NDA did
not agreewith ‘Hindutva , yet they formed an alliancewith the BJP.
(Any three)

OR

It has been rightly said that quite afew issues relating to the national
integration have not been resol ved even after 60 years of independence.
Theseare—

@
(b)
(©

()
C)

®

Theissueof reservationsfor women, Backward classes.
Thecitizensdon't fed shy of destroying national property.

The leadership has not been able to provide food and shelter to
majority of the people.

Demand for the creation of more States.

No doubt judicial activism has come up but speedy justice has not
yet seenthelight of theday. (to bebriefly explained.)

Thechdlengesof poverty; illiteracy, commundism, regionaism, castism
have not been tackled.
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Sample Question Paper |l: Question-wise Analysis

S No. Marks Form of Content Estimated
Question Unit Group Difficulty Level
1 1 VSA-I [ Easy
2 1 VSA-I 1 Easy
3 1 VSA-I Il Average
4 1 VSA-| [l Easy
5 1 VSA-I Vv Easy
6 1 VSA-I| \Y, Average
7 1 VSA-I VIl Easy
8 1 VSA-I VIl Easy
9 1 VSA-I VI Easy
10 1 VSA-I VI Easy
u 2 VSA-II I Easy
12 2 VSA-II Map I Easy
13 2 VSA-II 1 Average
14 2 VSA-II [l Difficult
15 2 VSA-II [l Easy
16 2 VSA-II Y, Easy
17 2 VSA-II Vv Easy
18 2 VSA-II Vi Average
19 2 VSA-I1I VIII Average
20 2 VSA-II VIl Average
21 4 SA I Difficult
22 4 SA I Average
23 4 SA Visual I Easy
24 4 SA I Average
25 4 SA [l Easy
26 4 SA v Average
27 4 SA Map Y, Easy
28 4 SA VI Difficult
29 4 SA VIl Difficult
30 4 SA VIl Average
31 6 LA I Average
32 6 LA v Average
6 LA \% Average
6 LA VI Average
6 LA VI Difficult
Easy =30
Average =
Difficult =20
Total =100
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